Supplemental Figure 1: Lung Endothelial MPS
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Supplemental Figure 1. A) Schematic of lung endothelial MPS. B) Images demonstrating coverage with endothelial cells
prior to incubation of plasma in the lumens. C) Confocal microscopy of lung endothelial MPS lumen in cross section.



Supplemental Figure 2: Cytokine concentrations in plasma before (left) and after (right) incubation with EC
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Supplemental Figure 3: Correlation of vascular permeability and endothelial activation markers

secreted cytokine
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